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Figure 5: Bunch length as function of current for V. = 150 kV. Given are
the parameters of the asymmetric Gaussian fit to the measured profiles. The
curves are straight line fits to these results.
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Figure 6: Bunch length as function of current for 1V, = 200 kV. Given are
the parameters of the asvmmetric Gaussian fit to the measured profiles. The
curves are straight line fits to these results.
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Figure 7: Bunch length as function of current for V. = 250 kV. Given are
the parameters of the asyminetric GGaussian fit to the measured profiles. The
curves are straight line fits to these results.
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curves are straight line fits to these results.
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Table 2: Summary of linear fits to the rms length 9y and asymmetry factor

t. The resulting values of %0 and t at I = 2 ;mA are also given. Note that
we believe that all the me

asured lengths are Systematically low, by a factor
of about 30%.
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Table 3: Comparison with earlier bunch length measurements. I = 1.5 mA.
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Table 4: The ratio oy(2mA)/op(.3mA) before and after correction, and the
fitted inductance L (normalized to Ly, = 14 nH) obtained from the series
resistance and inductance model (discussed below).
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